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1. TF h(z) = %{gg’), 9(2)=1,6'(2) =3, f(2) = 5 and }'(2) = 6, find £(2)

1
2. Ify =Vt — 7 Then find % |,




3. If the position of a particle is given by the equation
S(t) = 2t3 — 9t* + 12t,

where t is measured in seconds and S in meters, then the total distance traveled

by the particle during the time interval [0, 2] is:

} . 1—cosz
4. Find lim——
=0 rsinx



3, if <0
5. If f(x)=¢ 3—2, if 0<x<2,

1 .
. if 1'22

Then f is not differentiable at what point(s).



6. The normal line to the parabola y = 2% + z at the point (—1,0) intersects the
parabola a second time at what point.



